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Note:- Write your Roll No. in space provided. Over-writing, Cutting, Using of lead pencil
will result in loss of marks. All questions are to be attempted.
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1- Each question has four possible answers. Write the correct answer in the column (E).

Don't put the sign of tick, (\/ ) otherwise marks will not be awarded. (12)
=, (D) (c) (8) Ay _QUESTIONS Q1
I EAbs Wkl | 2apin S st L S| )
Inertia Force of gravity | Tans_fon in the | Air resistance |In S.H.M of simple pendulum restoring force |
' string is provided by

Frequency and Distance and Timeperiod | Speedand [Wavelength 2 of waves can also be
. Speed speed. andfrequency | frequency defined as ratio of

G | s | Shutat | Sty | gk e Feb AU S| @

I -] K i
fog T8 | 10tog 7 (@8 tog T(dB ) | jgtog 7 (@)
¢ o Sound level in dB is given by

Prass

e PRVt dB AL 5 an i

2 » 4 The distance between centre of curvature

and pole of spherical mirror is equal to

| £ Co2f ‘ 1 f ! f ' .ﬁ;w/‘.bbdl,fwbdgd,é;f.:%/tﬂﬂiff Fawy | ;

i@é}ew Luu{}w*a; Z.j_/g}’w,g | Lo :IJJ)JJ’%.,&JQJ’?;@:;?fU:&J;é‘f,g (v).:'

: : wipl S
Lose identit'y‘ 'Gain potential Gain power Loseenergy |in electric circuit when electrons move from -
_ , low to high potential they .
Lnd b2 38 s | Tk L W p b A 2.0 (i)
| il
If 4 Jouls of work is done on a 2 Goulomb
4 Volt 2Volt 8 Volt 1 Volt |charge against the direction of electric field, .
o ‘ _ the vaiue of electric potential is
ot Qc Qv QR -{.Jxx’z&}lﬂ/‘gl (vfi)
‘ » } Electrical energy is given by .
G G sen | & Tk L LD wade U102 | (i)
Valtage Power Energy Charge | Transformer is used to change the value of
4 Jiz > ey o —ce P EcrO| (0.
Negative Neutral Zero Positive | In-C.R.O the potential of Grid is . |
1MB 168 178 P8 e K 1024 (x)
e , v o 1024 kilobytes are equal to
CdJe1s2e JL1820 J1420 Jbizzo -5:_35_.5711..5!‘.(,( 22654 ] (xi)

1820 Yeais: | 1620Years | 1420Years | 1220Years |Halflife of radium-226 is
7 AT | el K17 e st OVD | ()

17 Hectobyte 17 Megabyte 17 G_ggébyte. ,b 17 Kilobyte | The storage power of DVD is

-1
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2, Attempt any Five parts from the followings:(5x2=10) -z elizibie e tdito2
@) Distinguish between longitudinal and transverse waves _qfuu,;uzqurJJ,'uwﬁjgswﬂiusjs515 ®

‘with a suitable example.

() Why must the volume of a Stereo in atoomwith - e DI erite Sk h bl )
wall-to-wall carpet be tuned higher than in a room with-a : ?u;»_f;.;,rmyz;
wooden floor? ; v

@) Define audible sound. Also descibe its frequency range. -q)[up;»p’ SIS S St S Gy

(v) Ifat Anarkali Bazar, the sound level is 80 B, what wilbe S/ Ik 160 dBUdkt A ()
the intensity level of sound there?
(v) Whatis critical angle? Write the refationship between the (s S JEL f 15 e spefo S )

critical angle and the refrective index of a material? -u:‘{;,m/g,(&w{jl_mé

(vi) Why is the driver's side. mirrorin many cars convex muﬁj/gfffé,gﬂ &/ﬂ_-ﬁy/‘vhd}&;{b“éKuu!f}i:y (vi)
rather than planie or concave? T

(vii) . Anobject 4 cm high is placed-at a distance of 12 em  Ricce8 om I IAA A o 4 oS3l (i
from a convex lens of focal length 8 cm. Calcutate the. -u:)ﬂ%fd;; ¢ él.s,iz{,bﬁécm
pasition of the image. _ ]

(viil) How nature of charges are detected by using e s e IS Tt LA (i
-electroscope? '

3. Attempt any Six parts from the followings:- . (6x2212) . _Q&iyw&zygaéi‘.kxdsw -3
{i) Write any two properties. of electric field lines. v ~g_}:’d_».l_,_.w""i,wf_ ,fujy_f}?r @i
(i) Acurrent of 3 mA is flowing through wire for 1 minute, Jf}bm&ui{l&"’?‘a £ BmAL e c,/’be’?uﬁ/ﬁ i)

What is the charge flowing thfough wire? ede

. For an ideal tre;nsfar‘mer prove that % "’% %= "II’:: Il L it i

(iv) How capacitor works in. resonant circuit? !‘9\?&’(&.{&&5&;&24 )‘(.:/ (v)

(v) How does the edrth wire save us from electric shock S S BN e FLYY, /?gfdéf’?f.) V)
%En the line wire of the electric appliances gets demaged? ‘-"4'; e

(vi) How short circuit happens due to-decrease in resistance - ?‘;.t'xd:..‘{/.:ul;‘:,i,xrz u‘%;d’.:// {vi)
of the circuit?

{vii) What is the:working principle of A.C. generator? -SSR ZAC. (i)

(viil) Why the resistance of coniductor rises with increase in C S eanod enp ST L ka2 (Vi)
temperature? i

(ix} What is the relation between electric potential and : _ S‘g_;j‘; YR JTKGJ!J’%/;!J’%J}QI {ix)

potential energy?

4. Attempt any Five parts from the followings:-(5x2=10) - /2fei2lzife S Ltstia
o} How the direction of current is reversed in the armature of i’q_a'vg..b’?c)fu&:ﬁf.f}?lw AALDC. 1)
DC motor? o -
(i) Define analogue and digital electrenics. _ -4,5/:.5_! ;’UJ}Q&'?&J,}J?J@ (i)
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(i) How is NAND gate made? Also write ts symbol. st belle 2 L NAND (i) )
(iv) What is the difference between primary memory and S OPSen gt S St S5y W)

‘secondary memory? -
) Forstoring data, Is thie floppy disk more better or the hard SL3ibe ;{-uyJ';Q.u'iiéL)'Z#u o)

disk?
(vi) Write two uses of cathiode ray oscilloscope. G L e 8 )
{vii) How mucha 1g sample of pure radioactive material ' wlmﬂgbfmﬂgq&;b‘c.(i Lt J/;f ks Vi)

* would be left after fout half lives? | odiy

(viii) Find the number of protons and neutrons in the nuclide i 51z o2 ma LU e x e ;;Mz.f {vii)
13
defined by 6X .

- fp"‘.’: RO
Part~ R | (B i
Note: Attempt any Three questions. Tx3=21) ,‘._{.&'f&&!ﬁéoﬂlrcf a0 Lo
5. (a) Define simple pendulum, Also prove that its motion is ’;‘_{/.:f.&s.H.M{Jmfwmd_/..aﬂ?ﬁé;ub(&}x) 5

SHM. [41

{b) A marine survey ship sends a sound wave straightto  #L1.5 sule. BJ’LEJ&M{;@:J}?IA@&/L{ i)

the sea bed. It receives an echio 1.5 & later. The speed of  1500ms™ 2x J 3L o2 By L s og/Um b/ S
. . -1

sound in sea water is 1500ms -~ g }r{, 3""’6’/’(&53 /{ - 4_

Find the depth of sea at that position. [3]

6. (@) Explain the formation of images by ray dfagrams when ufwb;;fz. Fieand 7'/0;4.4&1 J/u‘r L) 6

the object is placed at (i) beyond 2 F DL L stfenl PlF (ime-2 F (s

(i) between F and P . Also givé the nature of image A b AL e S

formed in each case. [4]

(b).A conivex lens.of a focal length 6 emis to be used to Jy/,u’cx:.v'vJK <8 cmﬂf!&f f'u’r ){u*’(u) .

form a virtual image three times the size of the object. . S‘q_lgbﬂul[ﬁ.'ic‘:.t‘kcé 1 |

Where must the lens be placed? ‘ ‘

[3) |

7. (@) Define.and describe Coulomb's law, 141 i fer g AT L H () T

(b) By-applying a potential difference of 10 V across a e S P ;ﬂf!.,q_ 10 VA J"%..il)’l&i Fr i) "

conductor a current of 1:5 A passes through it. How much s B AG ir2ee S Rttt 15 A

energy would be obtained froni the-current in 2 minutes.
[31

8. (a) Write symbols of AND operation and OR operation. J*-}a}éuws u:’a e 2T OR 1 7T AND(ID) -8

Also write their truth table. [4] S
(b) A step-up transformer has a turn ratio of 1:100. An Jl:’if/lff g1 00D E U /lb"'l}u{]\—«j’.—ﬁ(‘Q)
altemiating supply of 20 V is connected across the primary ( Vs ) gs;duﬂ?gb L AL AC.L20 VS
coil, What is the:secondary voltage ( Vs ) . ' o _u_fﬁ,iv

[31
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9.

{a) Define fission reaction. and.explain fission chain

reaction. [4]
{b) Explain briefly the transmission of radiowaves ,u_’fu u‘;ﬁ"{f w”ﬁ};ﬂ;ﬁﬁyﬁ){y)
through space. [31

Part - S— (Practical Part) Ite -~

Attempt any two parts of Question

(a)

{i) Draw the circuit diagram for finding the

tesistance of galvanometer by half deflection method.

{il) in above mentioned experiment resistance taken

from H.R.B is 5000Q and deflection 8 =24, the
resistance taken from L.R.B is 110Q  to make
deflection half. Find the resistance of galvanometer.
[243]
{b) :
{i) Write down the procedure and formula to find
refrection index of aliquid using a concave mirror.
(iiy How parallex is removed in the above

experiment. [2+1+2]

_Q_’ ;&U:&:f‘gldawﬁc}%ﬂgz f;.y}‘i{uﬁfld/u” () -9

5x2=10

G fen L e (4

3/

() 10

AR L3 S piosg sy il
L

(6=24 425000 Q 2o JOEHRBUE, Fil s (i) '
_F@nﬁ&ﬁm’wumf 110 © = LRB.2
' - "),?}"wfd'}:‘ibkr

()
sty 63 M P Qe n ST )
.uf"{', ',ffﬂfjs

KL\ i Foa sty Fil (i)

(e} In paraliel combination of resistances stiown in the  (#*1ei/ihés v et WS kuFp e S ©

figure. Find the current I flowing thraugh the éircut,

current through R‘ and current through R,

[1+2+2]

Ryn 2.0

o

~L(':)Q/' A L’q :»:" L;J/L’)LJ}’C..RZ\A’R 1:¢ f

(Emd)
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